Paper Code No.: 20

HIGHER SECONDARY EDUCATION
HALF YEARLY EXAMINATION 2017-18

HSE 1 Time : 2 Hours

Cool Off Time : 15 minutes
Maximum Score: 60
PART III

COMPUTER SCIENCE

General Instructions to candidates:

There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 hours.

Use the 'Cool off time' to get familiar with questions and to plan your answers.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in the
Examination Hall.

6l @MIBE3UEBU

alddlayauaoniw 2 asmlgadlm’ ojoem 15 dlwg ‘@&l BIad O6So‘ 9emMIVdlos..
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DOMAEIUB o) DN IWAMI’ alI3iERUWB WRLIAYAN NNWBRD:.

DHEMABGSLIDHA, aAll@UAB, WIGHUWB agaTIl QAN AGAIGITADHM D6MRIVIGIBH6Mo.
@ald3 R DRIWIgADIIeje MMIWIgsNE.

@RYNIVOMRS TLNLIAD TVRNIIDLERUW HHIFHNEMo.

GJIWINDHUB HalQIMIHIA HhIGIBCLIQQHU BHOHQYBA B@ DLIGHIGID: Daldh6mMOjo
al@l3:33200g03 D 16WIWHHINB aldslal.

PART A

Answer all the questions from 1 to 5. Each question carries 1 score (5 X 1= 5 Score)

MY NIRIVATINAI af)LI0 G213 ERUBOB0 DTMANNEDH. GTVIG AN allmo.

| DU is known as the first Computer Programmer.
@RYBIHOD DM égd G@JoWId @YW BROTIWEAIFIND® ...... @Ry6eTN.

2. The total number of symbols used in a number system is called its ......
8@ MVoRIJOMN@MYBIVAN]T ARYSH: DalE@INTABAM 2llaMEBBBHS Af)INOOD GR®1HOY

..... ag)amailglHsam.

3. The address of the next instruction to be executed is stored in ...... CPU
register.
ag)%m;‘ég 921QNINMBS  HDIFGOD @oﬁcrgoeﬂasm@ @AREHAY” ......... aVl.ail.@

@2=1aRoleI6eMm” YSHUlHs3aN Y.
[ele}
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4. WinZip and WinRar are the examples for .............

WinZip,WinRar agaonlai........ 53 ©BIaOREMEBBSOE

5. Operator with three operands are called ............

QAN B |OMBHSBS B3 {C0Q01OM ... a)mailgl a6,

PART B

Answer ANY 9 questions from 6 to 16. Each question carries 2 score (9 X 2= 18 Score)
aBOOBIeje BMal® GaDBIERSNS DOMOOHALTd:. TVEHIA 06" aflao.

10.

11.

12,

13.

14.

Expand the following terms.

2JIOS @AV]ATEBANAUYHS oM Balo af)EDbH.
a) ENIAC b)VLSI ¢) LSB d) ASCII

Perform the following conversions.

@INY|OQAN MAUAB HMOAUBAHBAV” af) LD b

Explain Mantissa and Exponent used in floating point data

representation.

Gafoglow)” Gald®1ag’ adg 0JMVOZaHMIBE alEIW1HsaN A0A1AY, af)d:>BIVIEMaZ”

af)an1al QI HDAIBG .

Draw the truth table of NOR gate used in Boolean algebra.
mygload eru=leywleal NOR cnglond gom” esmNud alossd,.

Compare RAM and ROM.
RAM, ROM aganlar @e®aye alQd.

Distinguish between Compiler and Interpreter.
$0oMILId, DBABEIQA af)aMIQI @NTAIBS QY@ JITVO af)ED b

What are the limitations of flowchart ?
600219351008 aIR1®]HUS af)HaDEI00?

List the different types of tokens used in C++.

C++ ael oNoNwme GSIEOHMHUI agol?

Explain conditional operator in C++ with syntax and example.

C++ o021 $:31auem@ 8394|6003 mﬂo@o%o 9B2a0MMOJo TVad1®o QiR 1B 1L D:.



15.

16.
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Compare stremp() and strempi().

stremp(), strempi()agarlor ®oo®age o2l

What are the different data type modifiers used in C++?

C++ @ 2a1600wlesam alallw®moe AWIQd OeSa] EaIAIaNWQHUS agu?

PART C

Answer ANY 9 questions from 17 to 27. Each question carries 3 score. (9x3= 27 Score)

17.

18.

19.

20.

21.

22,

23,

24.

25,

0BOOBIeje BMBal®) GaNBIEREHS DOMOOHALOH:. MVGHIE QN allmo.

Convert (80.375).0 to binary number system.
(80.375)10 om 896n1m01 Mm@ avlapomlcelos’ 200,

Write short note on Computer Languages.

M égd BoaHHOBa |1 LILJNV0(WaO0 DQYIOIE3ds.

What are the four freedoms provided by Free Software?

MVIDEDHEINVIGHAUQE MTIHHAN MILT VIO §63BUD ai0I?

Write the algorithm for Selection Sort.

DAVHLIGHM ¢TVIBZ1HG ERTIENITTDOo af) gD .

Compare getchar(), getch() and getche() in table form.
getchar(), getch(), getche()ag)anlal aIS10Ga IO @IO®AL 6 21Qd:.

Explain the merits of modular programming.

GOOWEINE8 BJOWInTomB1nnd GRMGU3 AflOIR]HD:.

Write any three functions defined in cmath (math.h) header file with
example.

cmath (math.h) agan eaoawd apnweneel ago®®lele AN anEEHVHUI
9B3Ia0QMAVAN T af) D .

What is the need of function prototypes used in C++?

C++ 901 aneBauad GJIC3006S 100 @RYAILYHD® af)a06m™?
Write a short note about recursive functions used in C++ with example.
C++ oa1  oleedavlal aNEBE aHNHHOBa Q]  9BIAOQMAVAOI®o  LIEJMVo@a00

QIO .



26.

27,

28.

29,

30.
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Explain precedence of operators upto third priority.

8322]¢0Qa8 @1V IWmaV’ aIgle@1eel GRRIYAN ABWEMMHU  AflOIG1EED:.

Write a C++ program to find the area and perimeter of a circle when

radius is given.
®aNIR1SBIM @Yo PalEWIW o[B@ YOMAM1HAZ ANaIBsIje 2JQ80Jo

»HMBallSlasan C++ GaJoio af)EDd.

PART D
Answer any 2 questions from 28 to 30 in this part.
Each question carries 5 score. (2 x 5= 10 Score)
aBOOB el V6NE GaDBIRBSOS DOMOOHAYDd:. MIEHIA 5 aflo.

Let A=(17)s and B = (98)16
a. Convert A and B to Binary. Score 1
A, B agamlaie® eemimol mmid avlayomlcelss” 200 .

b. Represent A and —B in 2’s Compliment Method. Score 1
A, -B apanlain® 2'S  e50mi1ond” Gelomleelos” 200 .

c. Represent —A and B using Sign and Magnitude Method. Score 1
-A, B apamlain® earvad mounlg W’ Galom]celss” 200,

d. Evaluate A + B + B in binary number system. Score 2
oamImol mmud avlquomlad A + B + B @es ailel é:ingailslesnd,.

a. Define datatype. Score 1%
aLIQI HSa| M1BAIales3D:.

b. Why do we need derived data types? Score 2
WleHoars” awIQd 965 {1Ha3 @YQICIH®  a)aNIE?

c. Identify suitable data types for representing the following data.

2JOIOS MENASHMEWIR AW AIQI OS] HeNgallS1Hed: Score 17
LA\’
1i. 0x25
iii. “Hello”

a. Write a C++ program to check the given year is a leap year or not.

@MIR1H530M AUGao GRWINUBAUAIGEMI @RLIGWI af)Maldlewowlessan C++

C@JoWIo af)EDbs. Score 3

b. Write all the relational operators supported in C++ with examples.

C++ o1 ag)eld 01eelausm@ 30q|G0QQdhSe 9BEIA0RMIVAsI®o QI SMAISd:.

Score 2



aleidl@omel’ myalsa@pg’ (Scoring Indicators)

@21DE{MMI alleidleomel’ myals@g’ UBHHID @O B
o alvoBlewoemR | TUEHD
g @
1. Augusta Ada Lawrence/Ada Maxwell 1 1
2, Base or Radix 1 1
3. PC or Program Counter 1 1
4. Compression Utility/Utility Software 1 1
5. Ternary Operator 1 1
6. a)Electronic Numeric Integrator and Calculator Y2
b)Very Large Scale Integrated Y2
c)Least Significant Bit Yo 2
d)American Standard Code for Information Yo
Interchange
7. (1101)45=(1000100000001),=(4353)10 1+1 2
8. Correct illustrations about integer part 1+1 2
( Mantissa) and real part(Exponent),Bit length
etc.
9. A B NOR
0 0 1 Y2
0 1 0 Ve 2
1 0 0 Ya
1 1 0 V2
10. Correct Comparisons based on Volatile,User’s 2 2
data,System data,Capacity,Speed
11. Comparisons based on Function,Object Code 2 2
Generation Method
12. Drawing process is time Consuming, 2 2
Modification is not simple,
No standards
13. Any FOUR tokens- 2 2
Keywords,ldentifiers,Literals,Punctuators,Operat
ors
14. Points like ?:,Ternary operator, Purpose 2 2
Exp1 ? Exp2 : Exp3;
15. Points like a)From same header file cstring, 2 2
b)Compare two strings with and without case
checking etc.
16. Long,short,signed,unsigned etc. 2 2
17. 1010000.011 Integer Part- | 3
1Y%
Real Part -
1%
18. Descriptions about Machine 3 3
Language,Assembly Language and High Level
Language
19. Any one point about ANY 3 from 1+1+1 3




freedomO,freedom1, freedom2 and
freedom3(Page 103,104 of Text Book Part I)

20. Correct algorithm(Page 240,241 of Text Book 3 3
Partll)

21. Correct Comparisons in table form. (Page 267 of | 3 3
Text Book Part Il)

22. Reduces Program size,Less chance of 3 3
error,Reduce program complexity, Improves
reusability(Page 276,277 of Text Book Part Il)

23. Any 3 from abs,sqrt,sin cos,pow(Page 282,283 of | 3 3
Text Book Part Il)

24, Correct Points about need(Page 296 of Text 3 3
Book Part Il)

25. Points/lllustrations/Example of a function calling | 3 3
itself.

26. Correct Points(Page 161 of Text Book Part I) 3 3

27. Correct program(Logic -1,Structure-1,Syntax-1) 3 3

28. Correct answer in a,b,c,d 5 5

29. Correct answer in a,b,c 5 5

30. Correct answer in a,b 5 5






